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+ 5=12




Versuch mal

ohne Hilfen

___+ 5 =28 U—Q _
___+ 1 =4 U_Q _
____+ 3 =5 U_Q _
____+ 7 =9 U_Q _
___+50 =80 U_O _
____+ 10 =40 U_Q _
____+ 30 =50 U_Q _
+ 70 = 90 U O _
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Umikehranije
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Versuch mal

ohne Hilfen
-3 =2 . O _
__-8=2 v O -
__-1=23 U:_C> =
_'7:3 l_J_C> =
—-30:20 U_Q =
_'80220 U;_Q —
___-10 =80 U:_Q _
—-70:30 U_Q =
— -30 =70 . O -
__+50 =100 U;_Q -
- 3 =17 u_ O _
+ 6 = 10 U: Q =
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Unikehravisgbhen Hoer cen ziehnell

+ 14 = 42 U:42 - 14 = «
al /
2 2
+ 13 = 31 U:31 - 13 = )
| >~
—
1 2
+26 = 34 U:34 - 26 = ’
|
4 2
+ 35 = 64 U:64 - 35 = -
|
(40
4 1
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